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DA MnO;+e = MnO] @®(MnO; MO ) = 0.55(1)
MnOy +2H,0 +2e > Mn(O, +40H™ @ (MrOT |MnO,) = 0.64(V)

T CuCl 7 6 mol/L HCY &P I « (BA mol/L H8{r)
B KO(CuCh=1.2x10",K2(CuCL ) = 3.13x 10
THE0. 010mol/L Fe(NQ); 18 & B Fe™ 7 4 4 BRFe(OH), IR i FIFe™ 1 i 55 42 it
HRET pH E. [ 20 K9 {Fe(OH))=2. 64x10 ]
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4, FREVESHRRAE 1100 g, LAFPEMSARRM, B B& A EA 0. 5000 mol/L
HCUARAESE 31. 40 mL - FR BB, HUMBLEERN, BHHERK HC
PRYEERORE , THRRFR 13.30mL o RBUBHR SIS I A A 0 R 4 5
""" Sl M (NaOH)=40.00: M (NayCO; ) =106, 0; M (NaHCO,) =84. 01,
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